SNS Hub Donation Wishlist



The following pages provide a breakdown of items and the infrastructure required to deliver SNS Hub spaces. We are working with various agencies to refine the list, reduce costs and where possible purchase at reduced prices.

Donations can be made directly via our <u>gofundme</u> page or by scanning the QR code above. Alternatively, if you would like to contribute to a particular item(s) listed below please contact Aaron Critoph- Assistant Headteacher, Director of SNS Hub:

hub@sns.hackney.sch.uk

We are particularly interested in building partnerships with local businesses and organisations that can offer financial support, equipment donations, or opportunities to work with our students. To discuss this further or corporate sponsorship opportunities please contact us directly.

By becoming a sponsor, your organisation will play a crucial role in transforming the lives of our students. In recognition of your support, we offer various benefits including:

- · Acknowledgement on our website and promotional materials
- Opportunities for your team to participate in events and workshops with our students
- Regular updates on the impact of your contribution

We thank you for your support and look forward to the possibility of partnering with you to enhance our creative offer for SNS students.

Section 1- SNS Media Studios

Green screen & photography studio		£85,636.47	£85,636.47
Cirrolite Lighting and green screen cove quotation incl. colorama and x3 paper rolls and curtain tracking	1	£80,000	£80000
system (see below)			
Samsung 75" Smart 4k Ultra HD HDR LED TV	1	£729	£729
SANDSTROM STL14 Tilt TV Bracket	1	£59.99	£59.99
VIVO Mobile Height Adjustable Table, Stand Up Desk Cart with Sliding Keyboard Tray, Computer Workstation	1	£124.99	£124.99
VIVO Black Fully Adjustable 13 to 32 inch Single Computer Monitor and Laptop Desk Mount Combo, Stand	1	£33.61	£33.61
with Grommet Option, Fits up to 17 inch Laptops (STAND-V002C)			
MacBook Air 15-inch 16GB	1	£1,699	£1,699.00
Yaheetech Adjustable Office Chair	2	£41.32	82.64
Toolour Desk Lamp Clamp with Touch Control	1	£27.49	£27.49
gofanco Prophecy Intelligent 1x4 HDMI Splitter	1	£87.34	£87.34
3-seater sofa	1	£200	£200
Coffee table	1	£40	£40
Hard wearing rug	1	£40	£40
Insul-quilt acoustic studio treatment (approx 90sqm)	90	£13	£1,170
Bonnlo Pro Heavy Duty C-Stand with Hold Arm, Grip Head	4	£71	£283
Steelfingers No 1 For C-Stands - X30	1	£51	£51
Sand	5	£3	£17
EMART Upgraded Heavy Duty Sandbag - Photo Video Studio Stage Film Weight Bags for Photo Video Studio, Light Stands Boom Arms Tripods - 10 Pack	1	£47.95	£48
Rustic Walnut acoustic wood slat wall panel (240 x 60cm)	5	£99	£594
iPad 10.9-inch	1	£349	£349
Green screen & photography studio (additional equipment)			£16,104.84
BlackMagic Pocket Cinema 6K	1	£1,755	£1,755
Libec LX10 studio tripod system with dolly	2	£1,104	£2,208

Samyang XEEN 5-Lens Kit - EF	1	£4,995	£4995
Angelbird 1TB AV PRO CFast Card	1	£552	£552
Angelbird CFast 2.0 Card Reader	1	£74	£74
NEWEER F100 7inch camera field monitor 1280x800 res.	1	£110.99	£110.99
Kondor Blue BMPCC 4K And 6K Camera Cable Pack	1	£83	£83
Lilliput BM230-4KS - 23.8" 4K monitor with 3D LUTS and HDR	1	£655.00	£655
Lilliput BM230-4KS - 23.8" 4K monitor tripod frame series	1	£247.04	£247.04
Sound Devices MixPre-3 II	1	£771.76	£771.76
Rode NT5-MP Stand Bundle	1	£315	£315
CVP 30cm XLR Audio Cable	2	£11.66	£23.32
RODE Wireless GO II Dual	1	£207.50	£207.5
Rode Wireless Go II Charging Case	1	£58.00	£58
Rode COLORS 2 Set For Wireless GO & Lavaliers	1	£10.83	£10.83
Rode Lavalier GO - Black	2	£49.00	£98
SANDISK Extreme Pro Class 10 SDXC Memory Card - 512 GB	1	£111	£111
Angelbird SD Recording Module	1	£83.66	£83.66
Sony A7 IV camera	1	£1,580.97	£1580.97
BlackMagic focus demand	1	£180	£180
IKAN Stratus complete cage for BMPCC 4K	1	£174.99	£174.99
SmallRig heavy duty tripod	1	£120.75	£120.75
Aputure LS C300D Mark II - UK	1	£720	£720
Aputure Lantern 90	1	£108	£108
Zoom H6 microphone	1	£169	£169
Zoom windscreen muffYOUSHARES Furry Outdoor Windscreen Muff, Pop Filter/Wind Cover Shield for Zoom H5, H6 Portable Recorder	1	£7.91	£7.91
SUCESO Headphone Ext. cable 3m Aux Stereo Jack Lead 3.5mm Male to Female	1	£6.66	£6.66
NEEWER NW-7000 Microphone Boom Arm	1	£59.99	£59.99

SONY MDR-7506/1 PROFESSIONAL HEADPHONES	3	£70.83	£212.49
SANDSTROM STL14 Tilt TV Bracket	1	£59.99	£59.99
NEEWER TL60 RGB Tube Light, Full Color	2	£149.16	£298.32
Blackmagic BMPCC 4K Cable Pack	1	£46.67	£46.67
Offline Editing suite			£20,655.28
HP Z27K 27" G3 3840 X 2160 4K MONITOR SILVER	8	£459.99	£3679.92
SONY MDR-7506/1 PROFESSIONAL HEADPHONES	8	£70.83	£566.64
M2 Pro Mac mini	8	£1,100	£8800
Mac Mni 3 year warranty	8	£99	£792
XTREME MAC USB-C WIRED KEYBOARD FOR MAC - SILVER	8	£42.74	£341.92
XTREME MAC USB-C WIRED MOUSE FOR MAC - SILVER	8	£17.09	£136.72
AVID MEDIA COMPOSER ULTIMATE 1-YEAR SUBSCRIPTION - EDUCATION PRICE	0	£89	£0
Adobe Premiere Pro education (per year)	0	£193.82	£0
BK750i NovoTouch 4K 75" & Wall Mount Kit	1	£1,595	£1595
NETGEAR M4300-28G-PoE+ Managed L2/L3/L4 10G Ethernet (100/1000/10000)	1	£1,783.29	£1783.29
Yaheetech Adjustable Office Chair	8	£41.32	£330.56
C-stand benching for computers	10	£130	£1,300
Bench dividers (pack of 6)	2	£58.45	£116.90
RGBW 12m strip lights	1	£18.33	£18.33
Rustic Walnut acoustic wood slat wall panel (240 x 60cm)	10	£99	£594
Bass trap panels	6	100	£600
Hybrid studio Infrastructure			£17,946.97
MAC STUDIO 12C CPU 30C GPU M2 MAX 32GB 512GB	2	£1,900	£3800
MAC STUDIO 3 year WARRANTY	2	£169	£338
AVID 12' DIGILINK CABLE	1	£70.83	£70.83
HP P27H G5 27" 1920 X 1080 PIXELS FULL HD BLACK	4	£155.99	£623.96
AVID PACE ILOK USB-C	1	£55.63	£55.63

AVID S1 FADER	1	£1,057.50	£1057.5
AVID DOCK	1	£832.50	£832.5
BELKIN USB-C TO RJ45 + USB-C NETWORK ADAPTER - 2 BLACK	2	£29.99	£59.98
IPAD 2 year WARRANTY	1	£79	£79
GENELEC 8040BPM (SINGLE) ACTIVE MONITORING SPEAKER - DARK GREY	3	£640	£1920
GENELEC 8000-402B BRACKET (SINGLE) FOR 8000 SERIES SPEAKER	1	£87.70	£87.7
Studio chairs	2	58.32	£116.64
Enterprise Electric set All Black	1	£2,072.74	£2,072.74
2m RGBW LED strip lights	1	£5.45	£5.45
CyberPower CP1500EPFCLCD-UK PFC Series, 1500VA/900W, 6 Outlets (4 IEC + 2 UK), 2 USB Charging Ports, AVR, Active PFC compatible, Tower	1	£225	£225
Surge protectors	3	£30	£90
Argos Home Quin Metal Folding Table & 4 Folding Chairs	1	£80	£80
Wedge Corner Bass Trap 3ft Acoustic Studio Foam	10	26.99	£269.9
Bass trap panels	7	100	£700
Bass trap corner fill acoustic studio foam blocks	4	17.99	£71.96
Focusrite ISA 428MKII	1	£1,965	£1965
Focusrite ISA ADN8	1	£615	£615
Scarlett 4i4 (4th Gen) 4in-4out audio interface	1	274.99	£274.99
PunchLight GPI	1	£188	£188
Punchlight Studio Warning Display (Record)	3	£179.47	£538.41
Punchlight desktop Studio Warning lamp	1	£82.04	£82.04
STARTECH USB-C TO DUAL GIGABIT ETHERNET ADAPTER WITH USB	1	£79.99	£79.99
Beyerdynamic DT 100 400OHM	2	£159	£318
SONY MDR-7506/1 PROFESSIONAL HEADPHONES	1	£70.83	£70.83
Sonifex AVN-AH8 HEADPHONE AMP	1	£791.67	£791.67
Hybrid studio Additional Equipment			£2,906.81

DaVinci Resolve Editor Keyboard	1	£485.00	£485
DaVinci Resolve Micro Color Panel	1	£415	£415
Mount-It! MI-2829 Small TV Monitor Wall Mount VESA compatible for 32-inch monitor	1	£23.09	£23
XTREME MAC USB-C WIRED MOUSE FOR MAC - SILVER	1	£17.09	£17.09
MediaLight Mk2 Flex 6500K CRI 98 Bias Lighting 2m for 32-inch monitor	1	£49.95	£49.95
ASUS ProArt Display PA32UCR-K Professional Monitor	1	£1,105.00	£1,105.00
BLACKMAGIC MICRO CONVERTER SDI TO HDMI 12G PSU	4	£116.67	£466.68
Native Instruments Komplete Kontrol S49 MK2	1	345	£345
ADR-Foley studio			£12,476
Kitchen sink and units (product, plumbing and installation)			£2,500
Soundproof walls			£7,000
LG OLED55C36LC.AEK EVO C3 TV 55" 4K	1	£1,198.98	£1198.98
Samsung 32" Smart Full HD HDR LED TV	1	£229	£229
Bontec tv wall mount for 23-70 inch	1	£23.37	£23.37
Nuwovwo Rolling TV Cart, Mobile TV Stand, Low Profile Monitor Cart with Wheels for 32-65 inch	1	£202	£202
Bass trap panels	6	100	£600
Drum N Base Vintage Persian Drum Rug – Original Red – 185x160cm - DNB-PRRO	1	£128	£128
Rustic Walnut acoustic wood slat wall panel (240 x 60cm)	6	£99	£594
Thomann Music Stand Aluminium Black	1	£15.50	£15.50
ADR-Foley studio			£6,177.27
Sony A6400 + 16-50mm Lens Kit	1	£724.17	£724.17
Sprint Pro III BHC Tripods	1	£100.56	£100.56
SONY MDR-7506/1 PROFESSIONAL HEADPHONES	3	£70.83	£212.49
Neewer 2 Packs 660 PRO RGB LED Video Light with App Control Stand Kit	1	£194.99	£194.99
Neewer 2 Packs LED Light Panel Softbox for 660 LED Panel: 9.25x9.25 inches	1	£49.57	£49.57
Fasmov 4 Pack Heavy Duty Photographic Sandbag Studio Video Sand Bag for Light Stands, Boom Stand, Tripod(Black)	2	£14.98	£29.96

Rode NT5-MP Stand Bundle	1	£315	£315
DPA D:SCREET CORE 4060 OMNI LAVALIER MICROPHONE, BLACK, MICRODOT	2	£313.50	£315.50
DPA DAD6001-BC ADAPTOR TO XLR PHANTOM 48V	2	£102	£204
AKG C414 XLS Stereo Bundle	1	£1,666	£1,666
K&M 27195 MIC BOOM STAND - BLACK	4	£45.70	£182.80
K&M 29376 MICROPHONE TABLE BASE	1	£86.20	£86.20
Shure SM7B	3	£362.50	£1,087.50
Shure SM57 Complete - Set	1	£125.09	£125.09
Rode RODEPSA1+ Professional Microphone Boom Arm	3	99.17	£297.51
sE Electronics RF-X Reflexion Filter X	2	61.84	£123.68
K&M 260/1 Upright Microphone Stand, Black	2	£26.88	£53.76
K&M 24050 Microphone Holder	2	£24.56	£49.12
Peastrex Music Boom Microphone Mic Stand Phone Holder Mount	3	£15.82	£47.46
Jubor Tablet Mic Stand Holder	1	£15.82	£15.82
Zoom H6 microphone	1	£169	£169
Zoom windscreen muffYOUSHARES Furry Outdoor Windscreen Muff, Pop Filter/Wind Cover Shield for Zoom H5, H6 Portable Recorder	1	£7.91	£7.91
SE Electronics Pop Screen	5	£27.00	£135.00
Store			£1,062.28
C-stand benching for computers	2	£130	£260
Yaheetech Adjustable Office Chair	1	£41.32	41.32
GREATMEET Metal Wall Storage Cabinet with Locking Doors, Wall Mounted	4	£72.00	£288.00
INTERGREAT Metal Storage Cabinet, 72" Steel Locking Cabinet	1	£108	£108
Handy Galvanised Steel 4 Garage Shelf Storage Unit	3	£22.00	£66.00
Extrastar 4 Way Socket 13A, 5M, White, with Indicate Light, Individual Switches, Surge Indicator	2	£16.99	£33.98
8' x 4' Yardmaster Pent Metal Shed (2.38m x 1.19m)	1	£234.99	£234.99
Oypla 750kg Heavy Duty 5 Tier Metal Storage Garage Shelving Racking	1	£29.99	£29.99

Lobby			£2,094
Branding & lighting signage			£1,500
Rustic Walnut acoustic wood slat wall panel (240 x 60cm) - Lobby	5	£99	£594
Cables			£1021.24
Custom Lynx 3-Pin XLR Cable – STARQUAD - 5m	20	£22.97	£459.40
Custom Lynx 3-Pin XLR Cable – STARQUAD - 3m	20	£20.37	£407.40
Custom Lynx 3-Pin Male XLR to 6.35mm (1/4") TRS Jack Cable – TESTUDO - 3m	6	£25.74	£154.44
Software			£5,997.82
AVID MEDIA COMPOSER ULTIMATE 1-YEAR SUBSCRIPTION - EDUCATION PRICE	11	£89	£979
Adobe Premiere Pro education (per year)	11	£193.82	£2132.02
Pro Tools educational license (per year)	11	£98.80	£1,086.80
Capture One educational license (per year)	10	180	£1800
Section 2- Additional Resource Provision (ARP)			
Teaching Spaces			
Interactive Teaching Screens for classrooms and meeting rooms	14	£2000-£2500	£30,000
Lu Interactive Projector	1	£10,000	£10,000
Desks	-	TBC	TBC
Chairs	-	TBC	TBC
Storage Cabinets	-	TBC	TBC
Soft seating for multi-use hall	-	£500	£500
Sports Equipment			
Indoor table tennis table and equipment	2	£2000	£2000
Outdoor table tennis table	1	£2000	£2000
Indoor and outdoor small sports equipment	-	£500	£500
Basketball hoop (1 indoor and 1 outdoor)	2	£1600	£1600

Football goal		£500	£500
Café (ran by SNS students)			
Kitchen Fixture and Fittings (lockable)	1	£10,000	£10,000
Tables, stools and chairs	-	£2000	£2000
Electricals (fridge, freezer, countertop airfryer oven, microwave, kettle	-	£1500	£1500
Hot plate trolley	1	£1500	£1500
Espresso Machine & Grinder	1	£2000	£2000
Kitchen equipment (utensils)	1	£300	£300
Computers with screens, keyboard, mouse, sideboard	1	£1800	£1800
Food stands and storage (crisps etc)	1	£50	£50
Food transport trolley	1	£50	£50
Behind counter signage	1	£300	£300
Outdoor café seating	1	£500	£500
General, reception and office spaces			
Welcome wall mural and corridor murals (matching main school)	1	£2400	AND
Internal Potted Plants (around whole provision)	1	£1000	£1000
Mini safe	1	£200	£200
Spare uniform in stock (for students requiring financial support)	1	£400	£400
Kitchen equipment (cutlery, drawer)	1	£200	£200
Staff kitchen electricals (dishwasher, kettle, toaster, microwave)	1	£1000	£1000
Meeting room table and soft seating	1	TBC	TBC
Food Tech Room			
Units fixture and fittings (lockable)	-	£12,000	£12,000
Containers (for food storage)	-	£100	£100
Ovens 5 + 1 teachers' station	6	£300	£1800
Induction hobs 5 + 1 teachers (shut off timers)	6	£200	£1200

			ı
Sinks + 1 teachers' station (food drainage sign)	6	£2000	£2000
Extractor Fan (all stations)	6	£2000	£2000
Tall Freestanding Fridge	1	£250	£250
Tall Freestanding Freezer	1	£250	£250
Washing Machine	1	£300	£300
Tumble Dryer	1	£250	£250
Laundry Baskets	1	£5	£5
Clothes drying rack	2	£20	£20
Microwave	2	£100	£100
Aprons	12	£70	£70
Equipment List- Scales, Knife, Fork, Tablespoon, Whisk, Fish slice, Plas7c Spatula, Large straining spoon, measuring spoons, Wooden spoon, garlic press, tin opener, pastry brush, palette knife, rolling pin, potato peeler, large saucepan, small saucepan, frying pan, white chopping board, colander, sieve, muffin tray, cooking rack, metal mixing bowl, small plas7c bowl, measuring jug, fairy cake 7n (£100)	-	£400	£400
Wall hooks	1	£50	£50
Stools and Desks	20	TBC	TBC
ICT Suite			
Workbench for 9 desks and fi[ng, cable costs 1 £1000	1	£1000	£1000
Computers, Keyboards, and mouse £570 9 £5130	1	£5130	£5130
Chairs for computers (no wheels)	1	£50	£450
Chairs and desks	1	TBC	TBC
External			
Plants, large potted trees, shrubbery, and sleepers for perimeter	-	TBC	TBC
Re-seed or resurface of existing grass area. Ideally replace with artificial grass	-	TBC	TBC
Picnic bench seating	-	£2400	£2400
Resurface of current sports court (tarmac or artificial)	-	TBC	TBC
Paving for side playground spaces and allotment area	-	TBC	TBC
Sleepers and materials required to build 3 planters' and 1 perimeter	-	£3000	£3000
		_1	

Shed including gardening tools (layout dependent)	1	£1000	£1000
Bench / seating for group teaching outdoors and therapy work	1	£2000	£2000
Bike Shed / Bike Storage- approximately 10 bikes	1	£3000	£3000
BBQ for events	-	TBC	TBC